Air Cylinder

Series MIB

Variations

032, 940, 950, 063, 980, 2100, 6125

Standard stroke (mm)

Center trunnion

X
S
20 R )
YA & 5
S o 5
& D ¥
Basic Standard
Axial foot g?)ct’i end nut
Rod S'd.e flange Knuckle joint pin
Head side flange | Glevis pin
Single clevis Single knuckle joint
Double clevis Double knuckle joint

Trunnion pivot bracket
Double clevis pivot bracket

o
c
£
o
@
92
)
]
é
=)
]
o
c
]
S
(7]

Standard
: Rod end nut
Basic Option
Foot Kuckle joint pin
Flange Single knuckle joint
. D le ki kle joint
Center trunnion Tﬁj‘nbn%n"pﬂ\fme Join
bracket
Basic Standard
Axial foot Rod end nut
. Option
Rod S'd.e flange Knuckle joint pin
Head side flange | Glevis pin
Single clevis Single knuckle joint
Double clevis Double knuckle joint

Center trunnion

Trunnion pivot bracket
Double clevis pivot bracket

IS Symbol 50 __100, 150 _ 200__ 300 _ 400 _ 500
Single rod ‘ED [ Bore ]35 75 |[1257)/1757)12507] 3507|4507 6007 8007)/1000
Series MB |~
d'h' 32 o000 00000000
JIS Symbol
Doublerod | 1 = 40 o ooleooo/o/o|o/oe|e
Series MBW | &= —— |
I ——
N *| JIS Symbol 50 o ooleoeo/eoo|ooe|e
on- CED
rotating rod o
Series MBK ﬁ-%
: . 63 oo0oj0o0o0o0o0o o000
*! JIS Symbol
Low friction O]
Series MBOQ 80 ooj0oj0o0o0o0o0oo o0 ™
¥ 0]
.8 \|100 o ojoloeejeoo|eee|e °
End lock :
i -
Series MBB| 5 5} . 2
- 125 oo/0ojo0o0o0oo o oo

Basic

Axial foot

Rod side flange
Head side flange
Single clevis
Double clevis
Center trunnion

Standard

Rod end nut

Option

Knuckle joint pin
Clevis pin

Single knuckle joint
Double knuckle joint
Trunnion pivot bracket
Double clevis pivot bracket

Basic

Axial foot

Rod side flange
Head side flange
Single clevis
Double clevis
Center trunnion

Standard _
Rod end nut
Locking release bolt

N onl
Option ( v
Knuckle joint pin
Clevis pin
Single knuckle joint

Double knuckle joint
Trunnion pivot bracket
Double clevis pivot bracket

% @125 is not included in MBK, MBCJQ and MBB.
Note 1) Standard stroke for MBK series is below 700.

290

299

305

309

315

285

ol
P
w2
e
ool

BT
e
oSt
=

D-C
-XO

Individual
-XO

Technical

data



Series MBL1Q

Construction
DB @®
W - e €> l
] [
—
_— @
A
10
Component Parts
No. Description Material Note
@ Rod cover Aluminum die-cast Metallic painted
@ Head cover Aluminum die-cast Metallic painted
©) Cylinder tube Aluminum alloy Hard anodized
@ Piston rod Carbon steel Hard chrome plated
® Piston Aluminum alloy Chromated
® Bushing Lead bronze cast
@ Cushion valve Steel wire Nickel plated
® Retaining ring Steel for spring 240 to 9100
©) Tie rod Carbon steel Zinc chromated
Tie rod nut Carbon steel Nickel plated
an Wear ring Resin
\7 Rod end nut Carbon steel Nickel plated
@ *| Backup Oring NBR
@ *| Rod seal NBR
(9 *| Piston seal NBR
\B) Cushion valve seal NBR
@ *| Cylinder tube gasket NBR
Piston gasket NBR
Replacement Parts/Seal Kit
Bore (mm) Kit no. Contents
32 MBQ32-PS
40 MBQ40-PS
50 MBQ50-PS Set of the
63 MBQ63-PS No. @3, @, @ and @
80 MBQ80-PS
100 MBQ100-PS

« Seal kits consist of items (3, (4, (5 and ({7, and can be ordered by using the
seal kit number corresponding to each bore size.

* Trunnion type should not be disassembled. (Refer to page 328.)

* Since the seal kit does not include a grease pack, order it separately.
Grease pack part number: GR-L-020 (20 g)

312

O
:




Basic: (B)

Air Cylinder: Low Friction Type Series MBDQ

MM H‘ 2xP
] [
— L — — — 'y
=V CJ1
wa —
H — — — o|m
SIS
N—v
Y — = - — — — —
oHi ‘ CJ2
|
Effective .| [MB
thread MA 2x4xd C CM2
A |KIF| N _ N » B . CG1
H _ S + Stroke -
- ZZ + Stroke .
om [CAZ
Bore Stroke | Effective Width
(mm) range |thread length|across flats A B c D |Eell| F G |H | H |MA| MB J K MM N P s vV |2z CS1
32 upto500| 19.5 10 22 |46 325 |12 | 30 | 13 |13 6 47 | 16 4 M6 x 1 6 | MI0x125| 27 |1/8 | 84 4 1135
40 up to 500 27 14 30 |52 |38 |16 [ 35 | 13 |14 8 51 | 16 4 M6 x 1 6 |[M14x15]| 27 |1/4 | 84 4 1139 CSZ
50 up to 600 32 18 35 |65 (465 |20 |40 | 14 (155 | 11 | 58 | 16 5 |[M8x125| 7 |[M18x1.5|31.5|/1/4 | 94 5 | 156
63 up to 600 32 18 35 |75 |56.5|20 |45 | 14 (165 | 11 | 58 | 16 5 [M8x125| 7 |M18x1.5[31.5|3/8 | 94 9 [156
80 up to 800 37 22 40 |95 |72 |25 |45 |20 |19 |13 |72 | 16 5 |[M10x15]| 10 |[M22x1.5| 38 |3/8 | 114 |11.5/190
100 up to 800 37 26 40 (114 |89 |30 |55 [ 20 |19 |16 |72 | 16 5 |[M10x15| 10 |[M26x1.5| 38 |1/2 | 114 | 17 |190
With MOuntlng Bracket + Refer to basic mounting (B) for other dimensions and with rod boot.
Foot: (L)
—t = = = = t
—\ |
p—
: L= = = = = =
Y
T 7
y T
Y| X
LS + Stroke
ZZ + Stroke _
Foot (mm)
Bore size| Stroke
(mm) range X |Y |[LD|LH|LS|LT|LX|LY|LZ|Z2Z
32 to700 (22| 9| 7(30(128/3.2|32|53 | 50(162 [
40 | to800 |24|11| 9|33[132[3.2[38]59 | 55/170 |D-7
50 to 1000 |27 | 11| 9|40 [148|3.2| 46| 725 70/190 ——
63 to 1000 |27 | 14|12 |45 [148|3.6| 56 | 82,5 80|193 _XD
80 | to 1000 30|14 (12|55 [174|4.5| 72 1025100230 L
100 to 1000 |32 | 16|14 |65 [178|4.5| 89 (122 (120|234 |Individual
-XO
Technical
data
313

O
:



Series MBL1Q

With Mounting Bracket

Front flange: (F)

_oFd

Rear flange: (G)

[—rii— —————————— HH -

FT
ZZ + Stroke
Single clevis: (C)
CDH10
[—! = +HH
lu]
L
Z + Stroke RR

ZZ + Stroke

Double clevis: (D)

CDH10

Z + Stroke
Z2Z + Stroke

Center trunnion: (T)

Z+1/2 Stroke

{—Hi—

314

Front Flange (mm)
Bi[ﬁrﬁ')ze ?;’rj’g: B |FD|FE|FT |FX |FY |Fz | Fd
32 |[to700 | 50| 7| 3 |10 | 64| 32| 79|25
40 |[t0800 | 55| 9| 3 |10 | 72| 36 | 9031
50 |to1000] 70| 9 | 2 | 12 | 90| 45 | 110|385
63 |to1000] 80| 9 | 2 |12 [100] 50 [120][39.5
80 |t01000]100] 12 | 4 | 16 |126| 63 | 153 |45
100 [t01000|120| 14 | 4 | 16 |150| 75 | 178 |54
Rear Flange (mm)
B‘E:ﬁrﬁ')ze ?;':g: B |FD|FT |FX |FY |Fz | zz
32 |to500 | 50| 7 | 10| 6432 | 79141

40 |to500 | 55| 9 | 10 | 72| 36 | 90145

50 |t0600 | 70| 9 | 12 | 90] 45 |110] 164

63 |t0600 | 80| 9 | 12 |100]| 50 | 120164

80 |to750 |100] 12 | 16 | 126 | 63 | 153 | 202

100 | to750 | 120 | 14 | 16 | 150| 75 | 178 | 202
Single Clevis (mm)
B"(rn‘jrﬁ')ze ?;r[%‘f L [RR| U [coMex?] z |2z

32 |t0500 | 23 |10.5] 13 | 10 | 14 | 154 |1645

40 [t0500 | 23 [11 | 13 | 10 | 14 | 158 [169

50 |to600 | 30 [15 | 17 | 14 | 20 | 182 |197

63 |t0600 | 30 |15 | 17 | 14 | 20 |182 [197

80 |t0750 | 42 |23 | 26 | 22 | 30 |228 |251

100 |to750 | 42 |23 | 26 | 22 | 30 |228 [251
Double Clevis (mm)
B‘}:ﬁ;')ze ?;'rf’;: L [RR| U [c0cx¥cz| z |2z
32 [t0500 | 23 [10.5] 13 | 10 | 14 | 28 | 154 [164.5
40 | 10500 | 23 |11 | 13 | 10 | 14 | 28 | 158 [169
50 |to600 | 30 |15 | 17 | 14 | 20 | 40 | 182 [197
63 | to600 | 30 |15 | 17 | 14 | 20 | 40 | 182|197
80 |to750 | 42 |23 | 26 | 22 | 30 | 60 | 228 [251
100 |t0750 | 42 |23 | 26 | 22 | 30 | 60 | 228 |251
Center Trunnion (mm)

B"(ﬁrﬁ')ze ?;':;s TDes| TT | TX |TY [Tz | Z

32 [t0500 | 12 | 17 | 50| 49| 74| 89

40 |to500 | 16 | 22 | 63| 58| 95| 93

50 |t0600| 16 | 22 | 75| 71|107|105

63 |t0600 | 20 | 28 | 90| 87130105

80 |to750 | 20 | 34 | 110|110 150 | 129

100 | to750 | 25 | 40 | 132|136 | 182 ] 129




